
TaskLocalRNG()

n_rows 50 = 

n_cols 2 = 

x 50×2 Matrix{Int64}:
 0  0
 0  0
 0  0
 0  0
 0  0
 0  0
 0  0
 ⋮  
 0  0
 0  0
 0  0
 0  0
 0  0
 0  0

 = 

using StanSample , Random  1⋅

stan_chris = "
data { 
    int n_rows;
    int<lower=1> n_cols;
    matrix<lower=0>[n_rows,n_cols] x; 
}

parameters {
   real mu;
} 

model {
    mu ~ normal(0, 1);
}";
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seed = 65445;1⋅

Random.seed!(seed)1⋅

n_rows = 501⋅

n_cols = 21⋅

x = fill(0, n_rows, n_cols)1⋅



data (x = 50×2 Matrix{Int64}:
 0  0
 0  0
 0  0
 0  0
 0  0
 0  0
 0  0
 ⋮  
 0  0
 0  0
 0  0
 0  0
 0  0
 0  0

, n_rows = 50, n_cols = 2) = 

(50, 2)

 
/var/folders/l7/pr04h0650q5dvqttnvs8s2c00000gn/T/jl_o7Maf2/chris.stan 
updated.

rc
ProcessChain([Process(`/var/folders/l7/pr04h0650q5dvqttnvs8s2c00000gn/T/jl_o7Maf2/chris sample num_samples=1000 num_warmup=1000 save_warmup=0 thin=1 adapt engaged=1 gamma=0.05 delta=0.8 kappa=0.75 t0=10 init_buffer=75 term_buffer=75 window=25 algorithm=hmc engine=nuts max_depth=10 metric=diag_e stepsize=1.0 stepsize_jitter=0.0 random seed=65445 init=2 id=1 data file=/var/folders/l7/pr04h0650q5dvqttnvs8s2c00000gn/T/jl_o7Maf2/chris_data_1.R output file=/var/folders/l7/pr04h0650q5dvqttnvs8s2c00000gn/T/jl_o7Maf2/chris_chain_1.csv refresh=100`, ProcessExited(0))
 = 

data = (x = x, n_rows = n_rows, n_cols = n_cols)1⋅

size(data.x)1⋅

sm = SampleModel("chris", stan_chris);1⋅

rc = stan_sample(sm; data, seed)1⋅

http://localhost:1234/edit?id=948c6cfe-ca5b-11ec-2f76-a175d43d05ff#
http://localhost:1234/edit?id=948c6cfe-ca5b-11ec-2f76-a175d43d05ff#
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if success(rc)
 read_samples(sm , :dataframe)
end
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